No.

LT 4 =3IV A harr ) — NEAREE
20234 4H 1H

T T )b - —iRERE B

BMAert =h - 7— s o—
&S L%

FlE et A4 S A

™ # 4 W

At 1 Hit

N T e R

ANEE O H 2R GEUERD L)

3/)) - OFTIA A EPT

Ac = D A% it ES 1
a7 V—RO O A7v7 NAFATYT Tu= KB M D KA A/ P OFESE
WO 7 | RIS L D LA - cm mm ok B
S 27 12 20 BB
%iéfé\ * X v b © K MO RE R HE M o & K Tk MO RE R
2 ; L)~ =1 77»77)/17'3&5;
%% g o & i RSB L2 FEEL mos ut % o F BB
BTN SRC KB AR B I GRS RE)) - OB ABEE — kg/md
e K o K ol MAMECE#R (=7 U — F o —C
iEAE ?E%DM*%@%@E&W%H%% i BB OE & I Geal K A > B Eeo BEEEO _FIR 55 %
B b B & f i — ke/nd DUF (MR AR O H L0 EIR — ke/m
= FEOVR %rf%uﬁﬁ“éﬁfﬁ“ — H B0 BEEO TR EEED LR — ke/md
zz 4 & — %RE LG DO R T T K& —cm
fif A iz Bt
ﬁ%/fHEF%%ﬂEﬁkWt%/F%t%ﬁ (%% g/ci | 3.04 [Na,0eq % | —
RFAO g " — T 3 —  |Naz0eq —
R L 220 i — T A BT g/cn — % —
1 ; . - Ty Mif BILEARDRID K & & [ MRERL| B g/l [R5y 2D
o] B OO R R A e SmE ol e R 6k S
O\ Koy B AR FHIT ALEHIE 5mmPA T 2.75 | 2.61|2.65| 7.0%2.0
B|©@) fehb SR BT EEMENT /N2 1 AFELZ LR —E 5Pl T 2.65 2.56 | 2.59 | 3.5+1.5
121 — — — — — — - | - —
| O A WU ST EMERT/ NS [ (1505) | A[FEAZ LN—1E5~15 58 2.61(2.63] 1.0+1.0
%®E¢E WA BRI/ N H (2010)  |AFELAZ Lo S3—110~20 58 2.612.63| 1.0*=1.0
@ _ _ _ _ _ _ _ _ _
@ — — — — — — — | - —
BRHO Zua—Uvy 7”7 S AEJBKAIEYE T Fl Na,Oe 0.8
& i A @ 54, = T 55 - i,/ K —
RF1AIQ -~ -~ ° —
BMOEImE ] — WARDKS  [HIFAK - BROK]EERT Y BESE ] — %
WUSCEM O [ — BB — LA T v OKOEHD -
e A& 0 * ke /mi
. T 7§ | B M L B iz e Fn Vail
A
e Te XAloTe e oo e @l 0 © [ ©
327 — — 175 | 325 | 481 — 478 | 477 — — 2.94 — —
7k+z></htt 53.5 % | K M & M K — %M B 46.0 %
s = BHOBERAHA, BRAOERZIOWTE, BYALERTA5A802, | BANES L B O:© 40.0:60. 0
i HEMD: @ 50.0:50. 0

EERERER S & L CRIizr3mE A oM., IBRAIQO O BAL&O A2
HH6H1IH~9H30H +10~+20%, &#12H11H~2H29H —5~-15%




Bl & 5 B E
Aic = ) B4 &t ES Gs
=Y ESRN) N 277 XATATV7 Tn—- B M O K~THE AN OFESA
O 5| FRFEIC L DR E — cm mm P RNk
S i} 27 12 20 BB
%Ejj? * X v b © M M MO Geidk W E M o & K & FEOVS R GEd
2l N L~ TUH U U H KL
%E\ H Moo FOE 55 A B L Fr WO x E o b BB
BRSO HRZ L DXy AR B I FEER RE)) - OB ABEE — ke/md
ok 0 K [ EHMEMCER (57 U — o E —C
EAE %E'ﬁuﬁ*ﬂr@@_iﬁ&tﬁﬁﬂ%% i BB OE & I Geal K A > B o BEEEO _F[R 55 %
SEM L B & f R — ke/ri LUK RO B G0 ER — ke/nd
= @U%ﬁf%%ﬂ“éwﬁ“ — A B B0 BEED TRXEEED LR — kg/nd
72 £ =8 — % |E bk DR T T KE — cm
(1) ZEhet(v) VTHOERIZEY v =80 %
(2)E A58 (m)
_ 1-SL _ 2
mi = 2.6 = 34.1 N/mf
100
YoT m = 34.1 N/mf
(3)KkEAV FEE(W/C) m = -13.2 + 25.5 X C/W
W/C = 25.5 + (34.1 + 13.2) X 100 = 53.5 % = [55% ( FFRfE) ]
"“W/C = 53.5 %
(4) HfrK & (W) WTHEDOFEREIC otb W = 175 keg/m
(5)HfSrE A F&E(C) C =W + (W/C) X 100 = 175 = 53.5 X 100 = 327 kg/m
Cv= C —+ #Pf = 327 ~ 3.04 = 108 £ /mi
(6) 755 & (A) A = 4.5 % X 1000 = 45 2 /m
(7)HEMHEME(G) UTHOFEFICLY NEAEME = 0.626 m/m EFER = 58.0 %
Gv = 0.626 X 1000 X 58.0 = 100 = 363 £ /m
G = Gv X REEE = 363 X 2.63 = 955  kg/m
Gl = G X 50.0 % = 478 keg/m
G2 = G — GI = 477 kg/m
(8) HALMIEH & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 691 = 309 £ /m
Slv = Sv X 40.0 % = 123 2/m S1= SIvXHEHEE = 123 X 2.65 = 325  kg/mi
S2v = Sv — Sly = 186 £¢/m S2= SoyXKWEE = 186 X 2.59 = 481 kg/m
(9)EME(s/a) s/a = Sv - (Gv+Sv) X 100 = 46.0 %
(10) BEALIEFIAIE (Ad) Ad = C X WINE X BE = 327 X 0.900 % X 1.00 = 2.94 ke/m
i A& £ ke /mi
. R # gt B iz HL ' 7 N fn vl
et Te 1 X oo e 0o 0ol 0 © 0
327 — — 175 | 325 | 481 — 478 | 477 — — 2. 94 — —
PERSN=AN JATRER . .
KAy M| sas ol # k| ac0 9 FPRRAKIIIIHANG - 40.0:60.0

1+




